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3. Determine whether the following sequences con-
verge or diverge. If the sequence converges, find
the limit. If the sequence diverges, explain why.
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4. Prove the sequence a, = fn,zLﬁ is bounded.
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7. For the recursive sequence given, find the 3rd term
and find the value of the limit.
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2. Use the Test For Divergence to show the series di-

)

Verges: l o

a0 n? T. O. l\m —_— = 7 *

2 ImTl 2 A= +1)( n+a) ' erges
=1 (‘R-l— )(‘R-I— J 3(“ ;er‘e’ Jll’ h

9. Explain why the Test for Divergence is inconclusive
when applied to the series ?E:l sin (3—1)
Is
-‘- - *cﬂ pﬁ‘
(PSS sun(n)= s (0)=0 =

n>® ‘6 Ao wal""" 'kf:.,’w. -3



10. If the ** partial sum of the series E 0y s
Three weys b Hind sam

_n+1

nya o 1 £ Gn iS known, +hen
a.) &pon, that is ;Zi:jl Iy =7 -'- ; Gn = “‘\-:'\‘ Sl\
£rs n=1
- Ml - sum of T - . 7
Sa= g ~ dermS, @ 1€ S O~ 'S 4’?"5"&’?
Nzl
,r.S"
Swe = ol - st ff' ‘“S © Find S
o0 T¥™ 1} S
104 l & “-‘«; o
b.) The sum of the series, that is E iy, =7 s "I'fl.c
o . Gn i5 @ g9em
S On = |\,a ntl - | @ ,E‘ n series
ezl NS n+q o0 a-t a
$of =
e.) A general formula for a,, then find ag. I n=t i ‘ <.
For

- L=
Ce= Sn = S\_‘ Sn= ~+d

n

—

G = On
N ard av>

>
~ (MY n*3) - n(o¥d)  Jadqar3m 0 40

(a+4)(n*3) (n+aXo+3)




11 indhe s of tf:te eriesr a-) i @s ( ™3 ) Cos( ))

Nn=
-lr
[ —cos &= ) = _cos(oy = \-1=0 EAL
T.0. ‘!:.:o 05 7y~ 05 ,\H> = c05(0) -

Fird Sa= Ga+O3¥xaq*--
Sn= °5‘ ;-")-COS(A>'F¢Z Z +ooz4- CDZ,/

A,.. CO ‘\‘5‘ ¢0S ""‘l

‘;= cos( ) cos(,.,,.,)\ =

L
00 5

- (oS
Sum of Series = hm Sn = \m ( a+q

I
L sum.
= (‘oss—{ &

W | 5, o0k
b) 3 ® | ' - ‘a{“ j—/
& (el e (nm)- ra o 0+3

1= AR+ B(N*H)

1= A3Y — A= =
1= a(-2)— 6—"&

n=-1:

i_ N= -3:
2/ 3
oEl (ﬂ"'\ - I\"J)

O Oa as au Ot N
{
5 3
Sﬁ a +* 3 ‘\"2 n..s -L o o
\ 3.3 - -
umof seness My Sz Wm [373 R A%
‘ L
=l7"%
o A - 2n¢ £0
% ﬂl\‘A_ TO v An Fn+d 3
ex: N2 5“"3 n>e
Awerges!

%A An ;;; = B (0)- 2n (n0)  HelE 5:;:”.3\0"



#.C . 0 n=l

Geometric  senes @ 5 af will coverge W [C1<1

will  diverge o
(2]

moreouel, ‘? af a  fF oclel

n=1

o _1f-8
- s 5 -
- A=b 5( 5 f . ‘r| >‘ !
. . - a w“ J“Gf‘?&
£) % S ). Z }"\'
r=0 q“ n=v “4
N
] 3(-15\4.3 7 L. =
T e 1 ~=® K - "":" "$
-l - 2
="y : ._,q - §‘+‘1 - 24
4 R 5
p2-ti o 10 a- %4 ‘_‘%..- _‘%*.
n
o0 n N+ 20 " N o >
- a Iy
5 a2 .:2%_:23(7)
n=0 1 n=0 n=0
2 -



Find  ¥he values of % for ohich 3 (""3)n

n=i

For Jhese yoluts of =« Cipd the sam,

convel ges.
n=l
—1¢ %-3 <l o n oo _3)
< %e o o MY
-3 - |x=3
- 2= =3 = -




	Page 1: Jul 11-2:08 PM
	Page 2: Jul 11-2:09 PM
	Page 3: Jul 11-2:10 PM
	Page 4: Jul 11-2:10 PM
	Page 5: Jul 11-2:10 PM
	Page 6: Jul 11-2:11 PM
	Page 7: Jul 11-2:12 PM
	Page 8: Jul 11-2:12 PM
	Page 9: Jul 11-2:12 PM

